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M.A. (Fourth Semester)
EXAMINATION, May-June, 2022

POLITICAL SCIENCE
Paper Seventh



Time : Three Hours] [Maximum Marks:80

    
Note : Answer all questions as directed.


(Section - A)

 
(Objective/Multiple Choice Questions)

 (1 mark each)

  
Note : Attempt all questions.

  
Choose the correct answer.

P.T.O.
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1.         


(A)    

(B)   

(C)   

(D) 

Which of the following hampers a Social Science Re-
search from becoming scientific research?

(A) Vague cause-effect relationship

(B) Lack of data

(C) Lack of objectivity

(D) All of the above

2.  

(A)  

(B) 

(C)  

(D) 

Which of the following is not a primary source of Data
collection?

(A) Field Survey

(B) Interview

(C) Government Report

(D) Questionnaire
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3. 


(A)    

(B)   

(C)    

(D)   

Which of the following prevents a research from deviat-
ing from the scheduled path?

(A) Limits of Research subject

(B) Selection of problem

(C) Sampling

(D) Classification of data

4.  

(A)  

(B)    

(C)  

(D) 

Which of the following is the benefit of random sampling?

(A) Satisfactorily accurate

(B) Less expensive method of data collection

(C) Free of personal biases

(D) All of the above
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5.   

(A) 


(B)  

(C)  

(D)  

Which of the following is the feature of qualitative re-
search?

(A) Protects research from positive biases and data
analysis

(B) Quantitative form of data collection

(C) Utilises empirical methods of data collection

(D) None of the above

6.          


(A)  

(B)  

(C)  

(D)  

Which of the following methods is used in empirical re-
search?

(A) Inductive method

(B) Deductive method

(C) Scientific method

(D) Historical method
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7. 

(A) 

(B)         


(C)      

(D)   

Which of the following is not true about interdisciplinary
research?
(A) It is helpful in pathological problems
(B) Researches from different disciplines jointly study

one problem
(C) It is useful only in social sciences

(D) They are primarily diagnostic in nature

8.  

(A)    

(B)         


(C)         


(D)   
Which of the following is used in not true about hypothesis?
(A)     It is the pre-research contemplation

(B)  Hypothesis must be proven in the research

(C)  There may be more than one hypotheses in a re-
search

(D)  Hypothesis must be clear

P.T.O.
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9. 

(A)    

(B)  

(C) 

(D) 
 

Which from the following is a use of Schedule in a research?

(A) It enlists research hypotheses

(B) It is the bibliography of research

(C) It is an annexure of the research

(D) It contains questions related to the research whose
answers are sought from the respondents

10.   

(A) 

(B) 

(C)  

(D)  

Which of the following is not a diagrammatical presenta-
tion of data?

(A) Bar diagram

(B) Map

(C) Pi diagram

(D) Line diagram
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11.  

(A)      

(B)       

(C)     

(D) 

Mode is:

(A) The most frequent data in a series

(B) A data with highest deviation in a series

(C) The average data of a series

(D) None fo the above

12.    

(A) 

(B)  

(C)  

(D) 

Lorenz Curve is related to:

(A) Mean

(B) Mode

(C) Dispersion

(D) Line diagram

P.T.O.
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13. 
   

(A) Schedule

(B) Sampling

(C) (Data)

(D)  (Census)

What of the following is indicated by the information from
a few grains of rice in a cooker whether the whole is
cooked or not?

(A) Schedule

(B) Sampling

(C) Data

(D) Census

14.  

(A) 

(B) 

(C)   

(D) 

In the case of structured schedule, the respondent.....

(A) Can answer in details

(B) Can choose only from the options given

(C) Can offer his own options

(D) All of the above
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15.  

(A)  

(B) 

(C) 

(D)   

Which of the following is true about Unstructured Inter-
view?

(A) Required information is easily acquired

(B) Definite information is acquired

(C) It lacks objectivity

(D) It saves time in data collection

16. 

(A)    

(B)   

(C)   

(D)   

Inertia of Large Numbers means:

(A) Large number of data

(B) Stability of data

(C) Instability of large numbers

(D) Stability of large numbers

P.T.O.
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17. 

(A)    

(B)    

(C)     

(D) 

Computers are helpful in..........

(A) Data analysis

(B) Data presentation

(C) Diagrammatical presentation of data

(D) All of the above

18. 

(A) 

(B) 

(C) 

(D)  

What is the relation between Facts and Theories?

(A) The two are entirely different things

(B) The two are similar

(C) Theories are based on facts

(D) Facts depend on theories
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19.  

(A)   

(B)  

(C) 

(D)   

What is true about theory?

(A) They are true for all times and all places

(B) They are not based on tests

(C) They are subjective

(D) They move to specific from general

20. 

(A)  

(B) 

(C) 

(D) 

Which of the following is not true about concept?

(A) They are influenced by the situation

(B) They are based on facts

(C) They are subjective

(D) They are idea-genetic

P.T.O.
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 

Section - B

  

(Very Short Answer Type Questions)

(2.5 marks each)

   

Note: Answer all 8 questions. Maximum 30 words.

1.     

Tell two features of a good schedule.

2.    

Define median.

3. 

What do you mean by Case-study Method?

4.       
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Name the propounder of Lorenz Curve.

5.    

What is meant by Deductive Method?

6. 

What is tabulation of Data?

7. 

What do you mean by Research Design?

8.    

Define mean.



Section - C

  

(Short Answer Type Questions)

(4 marks each)

P.T.O.
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    

Note : Answer all 5 questions. Maximum 75 words.

1.     

Tell the types of Bar Diagram.

2.      

Tell any five limitations of Interview method.

3.    

Write the types of Schedule.

4.      

Tell some of the characteristic features of Case Study

Method.

5. 

What are the limitations of Statistics? Mention at least

three.
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

Section - D

  

(Long Answer Type Questions)

(5 marks each)

   

Note: Answer all 4 questions. Maximum 150 words.

1.      

Clarify the differences between Concept and Theory.

2.       

Write a comment on the uses of Computers in social

research.

3.      

Tell the qualities of a good Sample.

P.T.O.
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4.       

Elaborate the appropriate methods to collect Primary

Data.


